
In the triangle below, shade five-ninths of the large triangle
so that the part left unshaded is still a triangle.

The square below is made up of four small squares.  Can you
shade half of it so that the unshaded part is also a square?

Copyright www.learn-with-math-games.com  2007 - 2014  All rights reserved.



In the triangle below, shade five-ninths of the large triangle
so that the part left unshaded is still a triangle.

The square below is made up of four small squares.  Can you
shade half of it so that the unshaded part is also a square?

Copyright www.learn-with-math-games.com  2007 - 2014  All rights reserved.


